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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

LIFE SCIENCE 

LSE-10 : ANIMAL DIVERSITY - II 

Time : 3 Hours] 	 [Maximum Marks : 75 

Note: (i) Question no. 1 is compulsory. 

(ii) Attempt Question numbers 2 and 3 as per 

given instructions. 

1. a) Fill in the blanks with the alternative given in the 

parenthesis: 7 

(i) The (viscoral / aortic) arches in most fishes 

deliver the deoxygenated blood to the 

respiratory surfaces of the gills. 

(ii) At the branchial bifurcation, there is (syrinx/ 

larynx) a special voice box found only in birds. 

(iii) Most amphibians spend their larval life (in 

water / on land). 
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(iv) The caecum is absent in few (carnivores/ 

harbivores) mammals. 

(v) Homocercal tails occur in (bony / 

cartilaginous) fishes. 

(vi) (Amphibians/Reptiles) are the first completely 

terrestrical vertebrates adapted to fresh water 

esturine and even marine habitats. 

(vii) (Urophysis/hypophysis) refers to masses of 

secretion produced by neurosecretory cells 

at the hind end of spinal cord of fishes. 

b) 	Read the following and match column A with 
column B. 	 7 

Column A 	 Column B 

(i) Pectoral girdle 	(a) Insulin 

(ii) Snake 	 (b) Inhate behaviour 

(iii) Corpusluteum 	(c) Siberian Cranes 

(iv) Beta cells 	(d) Prototheria 

(v) Instinct 	 (e) Progesterone 

(vi) Migration 	(f) 	Pitoorgans 

(vii) Platepus 	 (g) Glenoid cavity 
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(c) 	Define in one or two sentence (s) each of the 
following: 	 6 

(i) Batesian mimicry 

(ii) Scansorial locomotion 

(iii) Circannual Rhythms 

(iv) Acoclous vertebra. 

(v) Pronephros 

(vi) Lymphatic system 

2. 	Attempt any 5  questions: 

(a) Discuss the characteristic features of 
lampreys. 	 5 

(b) Draw a labelled cutaway view of human heart 

showing bicuspid and tricuspid valves. No 

deserption is required. 	 5 

(c) Explain the process of avian respiration only 

by means of diagram. 	 5 

(d) Explain with example the meaning of latent 

and insight learning. 	 5 

(e) Describe the functions of sympathetic and 

parasympathetic nervous system. 	5 

(f) Explain ecolocation in bats. 	 5 
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3. 	Attempt any three questions: 

(a) Describe the specialized derivatives of 
vertebrate integument with their functions. 

10 

(b) Discuss the phylogeny and succesion of 
kidneys in vertibrates. 	 10 

(c) What is bioluminiscence? Explain its 
mechanism and its significance for 

chordates. 	 10 

(d) Discuss the distinguishing features of reptiles 
by comparing with amphibians. 	10 
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